| v | ModbusRTU-DEWW2 I_L _/——| StoDv | ModbusRTU-DEW2
— Or

| Dv | ModbusRTU-12345678 ——— —

— Or3
[ Dv | ModbusRTU-2468 |—f

| ModbusRTU-DEWW3 I_L

~~— StoDv | ModbusRTU-DEW3

| ModbusRTU-12345678 F———

Or

Or7

| ModbusRTU-1357 |if

[ Dv | ModbusRTU-DEWWS |——~\_
[ v [ ModbusRTU-12345678 F——— —
[ v | ModbusRTU-2468 |—J

[ Ov | ModbusRTU-DEWWS |—L

| Ov | ModbusRTU-12345678 F—————

| Dv | ModbusRTU-1357 }—/_
| v | ModbusRTU-DEWWE I_L

[ v | ModbusRTU-12345678 |——— —

— orlo
[ Dv | ModbusRTU-2468 |—/

_f__| StoDv | ModbusRTU-DEWS
Or

COrB

~~—] StoDv | ModbusRTU-DEWS
Or

Org

~— StoDv | ModbusRTU-DEW6
Or

| Ov | ModbusRTU-DEWWT ’_L ~———| StoDv | ModbusRTU-DEWT
— Or —

| v | ModbusRTU-12345678 |————

| ov | ModbusRTU-1357 I—f

Orll

| Ov | ModbusRTU-DEWW] [—

| Ov | Mmm;mu-l:m&m}—w

| v | ModbusRTU-1357 k—%—

| Dv | ModbusRTU-DEW] [——

| D | ModbusRTU-DEW?2 I__JC

| Ov | ModbusRTU-DEW3 [————

| Dv | ModbusRTU-DEWA |—f

| v | ModbusRTU-DEWS |-

[ ov | ModbusRTU-DEWE |-——

| Ov | ModbusRTU-DEWT |——-

— StoDv | ModbusRTU-DEW1

—

[ ov | ModbusRTU-DEWE |-——

Or
Or3 ,————| StoDo | ModbusRTU-TDL | Wellout-FD1 |
p — StoDo | ModbusRTU-TD2 | Wellfout-FD2 |
»——{ StoDo | ModbusRTU-TD3 | Wellout-FD3 |
/— StoDo | ModbusRTU-TDY | Wellout-FD4 |
CArithm
dl odl
d2 od2 —— — StoDo | ModbusRTU-TDS | Wellfout-FDS
—{d3 od3 ——
a4 odd ——— — StoDo | ModbusRTU-TDG | WellTout-FD6
d5 od5 r
d6 odb
—{d7 od? { StoDo | ModbusRTU-TDT | Wellout-FD7
di odl
rodl=(d1)?1: 0]
od2= (d2)71:0;
od3=(d3)71:0; — StoDo | ModbusRTU-TDE | Wellfout-FDB
odd=(d4)71: 0;
od5= (d5)71: 0;
odb= (d6)71: 0;
od7=[d7)71:0;
odB=(dB)?1:0;
CAritl1




